

۱۱، ۲۲، ۵۵

$$a_1 = 1 + \left(\frac{1 \times 1}{1} \right) = 145$$



$$1 + \left(\frac{1 \times 1}{1} \right) / 1 + \left(\frac{2 \times 2}{2} \right) / 1 + \left(\frac{3 \times 3}{3} \right) / 1 + \left(\frac{4 \times 4}{4} \right) \Rightarrow \text{جمله سی} = n + \left(\frac{n \times (n-1)}{2} \right) = a_n$$

۱، ۳، ۵

$$\frac{1 \times 1}{1} / \frac{2 \times 2}{2} / \frac{3 \times 3}{3} \Rightarrow a_n = \frac{n(n-1)}{2} \Rightarrow \frac{n(n-1)}{2} = 55 \Rightarrow 110 = n(n-1) \Rightarrow n = 11$$

$$5, 9, 13 \Rightarrow a_{n+1} = a_n + 4$$

$$5, 11, 17 \Rightarrow a_n = 11n - 5$$

$$a_{11} = (4 \times 11) + 1 = 45$$

$$a_{11} = \left(\frac{11 \times 11}{11} \right) - 3 = 11$$

$$a_n = \frac{(-1)^n}{n} \Rightarrow \left. \begin{array}{l} b = \frac{(-1)^1}{1} = -1 \\ c = \frac{(-1)^2}{2} = \frac{1}{2} \end{array} \right\} = \frac{1}{2} - (-1) = \frac{3}{2}$$

$$b_r = \frac{(-1)^r}{r} - \frac{(-1)^{r-1}}{r-1} = -\frac{1}{r} / a_n = -a_n + 22 \Rightarrow -a_n + 22 = -\frac{1}{r} \Rightarrow a_n = -\frac{1}{r}$$

$$\Rightarrow n = 11$$

$$a_4 - a_1 = 12 \Rightarrow a_1 + 3d - (a_1 + 0d) = 12 \Rightarrow 3d = 12 \Rightarrow d = 4$$

$$a_9 - a_1 = (a_1 + 8d) - a_1 = 8d = 8 \times 4 = 32$$

$$a_1 = 1 / a_1 = 1/5 \Rightarrow d = \frac{a_m - a_n}{m - n} = \frac{1/5 - 1/10}{5 - 10} = 1/10 \Rightarrow a_1 + d = 1/5 \Rightarrow$$

$$a_1 + 1/10 = 1/5 \Rightarrow a_1 = 1/5 - 1/10 = 1/10$$

$$or \ a_n = \frac{1}{10} + (n-1) \times \frac{1}{10} = \frac{1}{10} + \frac{n-1}{10} = \frac{n}{10}$$

$$t_n = \frac{1}{5}, \frac{2}{5}, \frac{3}{5}, \frac{4}{5}, \dots \Rightarrow a_n = \frac{1}{5} \Rightarrow \frac{1}{5} < \frac{1}{5} \Rightarrow$$

$$1/n - 1 < 1/n + 1 \Rightarrow 1/n < 1 \Rightarrow n < 1/5 \Rightarrow$$

$$\frac{1}{5}, \frac{2}{5}, \frac{3}{5}, \frac{4}{5}, \frac{5}{5}, \frac{6}{5}, \frac{7}{5}, \frac{8}{5}, \frac{9}{5}, \frac{10}{5}, \frac{11}{5}, \frac{12}{5}, \frac{13}{5}, \frac{14}{5}, \frac{15}{5}, \frac{16}{5}, \frac{17}{5}, \frac{18}{5}, \frac{19}{5}, \frac{20}{5}, \dots$$

$$t_n = 1, 1, 1, 1, \dots$$

$$\frac{(1 \times -1/5) + (1 \times 1/5)}{-1/5 + 1/5} = \frac{0}{0} = 0$$

$$1a = -1 \Rightarrow a = -1$$

$$1a + b = 1 \Rightarrow -1 + b = 1 \Rightarrow b = 2$$

$$a + b + c = 1 \Rightarrow -1 + 2 + c = 1 \Rightarrow c = 0$$

$$t_n = -1, -1, -1, \dots$$

$$a_n = 0, 1, 0, 1 \Rightarrow d = \frac{a_m - a_n}{m - n} = \frac{1 - 0}{2 - 1} = 1$$

$$1 = a_1 + d \Rightarrow a_1 = 1 - 1 = 0 \Rightarrow a_n = a_1 + (n-1)d = 0 + (n-1) \times 1 = n-1$$

$$1a = 1 \Rightarrow a = 1$$

$$1a + b = 1 \Rightarrow 1 + b = 1 \Rightarrow b = 0$$

$$a + b + c = -1 \Rightarrow 1 + 0 + c = -1 \Rightarrow c = -2$$

$$n^2 - n - 1 = t_n$$

$$a_n + 1 = n^2 - n - 1 \Rightarrow 1 = n^2 - n - 2$$

$$n = 2 \Rightarrow n(n-3)$$